5/20/2015 Print Test

PRINTABLE VERSION

Practice Test 3

You scored 100 out of 100

Question 1

Your answer 1s CORRECT.

Suppose that 0 is an acute angle of a right triangle and that

tan(6) = 37

Find sec(0) and csc(0).

L& /=

+

(‘I’Ja—-) *$y 3¥2:c*

2 :sec{ﬂ]=%ﬁ, csc[ﬁ}=%] 32449 - ct
: . i c*: 3l
b) _sec{ﬁ}=ﬁm, csc{ﬁ}=ﬁm] ¢=9
B e L
@ [SEC{B} = cec(0) = 7 2 ] Sec 6= F
gec(@) = —, coc(0) = — r
d) [{B} | {B}ﬁﬁ] Csc.a--j—=q__"
Nz &

9 [sec{ﬁ]=%ﬁ, cscl{ﬁ}=%ﬁ]

f)  None of the above.

Question 2
Your answer 1s CORRECT.

Suppose that 0 is an acute angle of a right triangle and that

9
B =i
sec(0) 1
Find sin(0) and cot(0).
: 9 _ 4
sin (8) = — / 65, cot(0) = — 65
a) o] 65
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[sinl[ﬁ}=l\.n"65,cot{B}=lJ65] Sin® = “_f_
b) G 4 9
) [sm{9}=%,cot{ﬁ}=%w’65] otes 4+ < 4Jus
¢ N
{vs ©S
[sm{ﬁ} == cot(@) = . Y 65 ]
d) o]
[sjnl[ﬁ} o O o L ]
e) 9 63
f)  None of the above.
Question 3
Your answer 1s CORRECT.
Convert the following degree measure to radians: 210°.
a) 21720 20, _© = 21w _ F
18> s b
b)  14xn/3
¢)  Tn/12
/6
e) 12n/7
f)  None of the above.
Question 4
Your answer 1s CORRECT.
A sector of a circle has central angle 6 =4n/3 and area 50m/3 ft2. Find the radius of the circle.
A oa
a) 4 ft h=z2r'e
Som _ Ly
b) % fi 3 2 v ( 3
¢ 20 fi Soft = 4T _,
—_r
3 L
5 ft
@ r = 25 =» r=5
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e) 10 ft

f)  None of the above.

Question 5

Your answer 1s CORRECT.

A car has wheels with a 12 cm radius. [f each wheel’s rate of turn is 7 revolutions per second, how
fast is the car moving in units of cm/sec?

a)  7n/l2 :I-r“-s . 2T Alem = W8 T
@ 1687 See \ rev

c)  12n/7

d)  84n

e) 24n

f)  None of the above.

Question 6
Your answer 1s CORRECT.

If the central angle 0 defining the sector is given in degrees, then the area of the sector can be found
using the formula:

Use the formula above to find the area of the sector:
0=140° r=6cm

a)  28m/3 cm?
A= '3‘"—"- m(36) = l4mw

b) © 14xn/3 cm? Lo

¢)  28n cm?
@ 147 cm?
e) Tn/3 cm?
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f) ~ None of the above.

Question 7
Your answer is CORRECT.

Convert the following radian measures to degrees:

1
97t/1 0
a) (171/2)0 \ar . _‘1’_ = 3420
lo T

342°

¢) ( 3600 19 )0

d)  380°

e)  684°

f)  None of the above.

Question 8 B +tn- 3,0

Your answer 1s CORRECT.

Find three angles, two positive and one negative, that are coterminal with the given angle: 100°

[ ]
a)  -80°,280°, 460° oo +( 3uwo = o

[ ]
b)  -260°,280°, 820° loo +(-1y3yo = —200
g o
@ 2260°, 460°, 820° loo + (2)3wo = 820
d)  -280°,280°, 460°
e)  -80°, 460°, 820°

f)  None of the above.

Question 9

Your answer 1s CORRECT.

Evaluate: csc( % )
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_ S
a) 3 A -
x -5mr Ly
by 2 T esc (o) -esely
- -
¢ 2 T = . i ll =72
_ refo=— sl /2
2 o
e) 2\5/3
f)  None of the above.
Question 10
Your answer 1s CORRECT.
. _ ~1 \
Evaluate: sin( 'lln/6) = =S L“Tﬂ:) - T [ /2-] - /Z
a) @/3 reffe= T
(/]
b) \/§/2
¢) _1/2
d) _\5/2

CN
f)  None of the above.

Question 11
Your answer 1s CORRECT.

Find the period for the following function:
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a) 2
b) s
¢ 3

d) s

© 2n/3

f)  None of the above.

Question 12
Your answer 1s CORRECT.

Find the period for the following function:

-
2 37 Pevod = 2T . 2w __ = 2T 4 _ g
b) 2 ® /et L
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5/20/2015
@ 8n
d) 4n

e) 14n/3

f) ~ None of the above.

Question 13
Your answer 1s CORRECT.

Find the period for the following function: /

~

Fflx)=6¢smn [l ’ﬂix + TI:] — 4

€

a) 10=n Pch‘nd.:_%_ta- pR =21 .S = 1>
b) /5 > /s L

¢) 2m/5
0

e) 5

f) = None of the above.

Question 14
Your answer i1s CORRECT.

Find the phase shift for the following function: > _ -

AN /C
AT
Flx)="7Trcos K?’ﬂ:x+*ﬂ:]+2
C -—
a)  mwleft Phace - -g‘—-'z--.-.-‘ﬁ's -3
- LD - —_— =
| St /s I T

b) = mright 7\

(O ° 3ttt Jo Hoe lef+
d)  2left

e)  3right
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f)  None of the above.

Question 15

Your answer 1s CORRECT.
Give an equation of the form f(x) =4 cos(B x - C) + D which could be used to represent the given
graph. (Note: C or D may be zero.) ® A = MmoX-min

....................................................................................................

y =2 cos( 4x-T) 1

a) flx)=2cos(dx—m) —1

(B fm=2cos (4x—m) +1
¢) O Jlx)=2cos (4x—m)

d O flx)=4cos (4x—m) —1
e) O Jlx)=4cos (4x—m)+1

f)  None of the above.

Question 16
Your answer 1s CORRECT.
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Give an equation of the form f(x) = 4 sin(B x - C) + D which could be used to represent the given

raph. (Note: C or D may be zero. .
graph. ( of ) @ o:m‘al.-l--,\_dw_ A =moX-pmin

.\oﬁi' ST-'"T'} LtT i

2=

A‘=-|"L"5) | 2

el
-

i e S S
Ao 2T 3
. \

Fdy: 2sin(3x - %)

Flx)=2san |2x—
[
Ff(x) =4 sin [Ex
b)
Flx)=2sn [3:1:
¢)
Flx) =4 sn [3):
d)
Flx)=2sn [BI—
e)

f)  None of the above.

Question 17
Your answer 1s CORRECT.
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[dentify the function whose graph is shown below. The point ( 6 , 3 ) is on the graph.

- (Li3)

a) Flx)=2zan(x)

b) f(x)=3cm5[%ﬂ:x] _ __35“‘((,-“-)
= T

fl(x}l=—35in[%x]
Q) flix)=6cos[%ﬂ:x] = —3(-) =3

® fl(le=—35in[%'ﬂ:x]

f)  None of the above.

Question 18
Your answer 1s CORRECT.

Suppose that triangle ABC has C =90°, AC=4 and BC =38. Find cot(4) and cos(B).
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2 ) ctqk gt
8
by  loot(4) =4, cos(B) =325 | C= l.'.J';
A C
e 1 ‘*
4 _ |
TA:z = L
a) [cot(ﬂj =2, cos(B)= = ﬁ] Co 3 2
CoS 6'.". 1 . E - 945 _. LJ;
1 =
N [Eﬁt(ﬂj = E cos(H) = ﬁ ﬁ] 41 S‘ E 20 =

f) = None of the above.

Question 19

Your answer 1s CORRECT.
Evaluate
(—cos[?-*—'mﬂjj +sin|:9[]oJ
(cos[BEDGJ]
‘1 —_—
— 3 =1
a) 3 v '/2. - \ 2
3
by O V3 +1 B/Z-
R
1 = 1
0 8 s VE)
1 = 31
Q) V3 + o 3

1
—J3+1
O
f)  None of the above.
Question 20
Your answer 1s CORRECT.

Which of these is an equation of one of the asymptotes of the following function?
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Waere CosX) =0
Flx)=75zec [%*ﬂ:x—’ﬂ:]

U Ix-‘l‘l‘: IR
3 £ <
x=—1
b) 4 _1::(: Eluny
2 2.
@
X= 3
d) b gt 1
B
e) z

f)  None of the above.

Question 21
Your answer 1s CORRECT.
Give an equation of the form f(x) = A4 tan(B x - C) + D which could be used to represent the given

graph. (Note: C or D may be zero.)
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a)  flx)=-3tan (x)

b) Flx)=-3tan [x—%*ﬂ:]

0) Fflx)==-3tan (x) — 1

Flx)=-%tan [x— %'ﬂ:] el
Flx)=-3tan [x— l’ﬂ:] s

e) E

f) ~ None of the above.

Question 22
Your answer 1s CORRECT.

Find: cos( '4n/3) = Cos L‘“T/J) = - Cos Lwlé\ = —l/Z

a)
b 3
o V¥
A

K

f) ~ None of the above.

Question 23
Your answer 1s CORRECT.

List all x-intercepts for

1 1
—usd " o
sm[2 = ]

on the interval [-2n/5, 4 ]. X ., _
X 4T =0 T ¥s=T
l —
a)  w/5, 9n/5, 18n/5 S %X . =T .'_".: - "'/S
2 S
x = &7
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b)  -2w/5, 9n/5, 195
¢)  -2n/5, 8n/5, 4=n
@¢ -2w/5, 8w/5, 1805

e) 0,85, 18xn/5

f)  None of the above.

Question 24
Your answer 1s CORRECT.
Find
1
s
T
b ¢
o TR
¢) g
_4
d) 9
b
e) 9

f)  None of the above.

Question 25
Your answer 1s CORRECT.

Find

e T
a) i

Print Test

X & = 2r
2 5
X -
2 S
X < |3“75
cos[sin_l [%]]
1 SN
4 =
oL X =811y
X XL‘. (,S
Cos o= JT:S X = L5
q
|
coi] T = x
tmhnwgn -
x v 4 =8
X*. 33

VEIN X
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2
b)
2
) 77
— 7T
@ 77
e) 9

f)  None of the above.
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